Al. A3. Ad. Nr'TA k ANO 1 MEXPI 84
i A 15 APXH_ENANAAHYHX
. a) a) 0 : ATABASE ¢
i.2 | B)a)1234 | 2.A MEXPI>_OTOY ¢ = 'A' H ¢ = 'K'
evTONEC A | )y 52-1 | 3A APXH_EMANAAHYHS
VA | 8)y)54 AIABAZE n\
V.S MEXPIZ_OTOY n\ >= 10 KAI n\ <= 18
: AN ¢ = 'A" TOTE
vi. 2 TAA <- TAA + 1
A5. X>=100 KAI X<=999 KAIXMOD 2 =0 AN nA = 10 H nA = 18 TOTE
mA1ON18 <- mAlONn18 + 1
Bl.Ap X y 3 Y<>0 | E€0d TEAOZ_AN
45 | 20 AANAIQE
0 TMAK <- TMAK + 1
A xBp <- oBp + nA
0 TEAOZ_AN
90 TEAOZ_ENANAAHYHZ
AN TAA > TAK TOTE
10 FPAYE 'meplLocoTEPX xyopLa’
A AAAIQZ_AN TAA < TIAK TOTE
0 FPAYE 'MEPLOOOTEPX KOPLTOLXK'
180 ANIQZ
5 FPAYE 'iLoo mARBog ayopLo/kopiTtoLn'
TEAOZ_AN
A AN TAK <> 0 TOTE
180 MO <- oBp/TAK
360 FPAYE MO
) TEAOZ_AN
AN TAA <> O TOTE
TOOA <- mA10N18/mMAA*100
180 FPAYE ToOK
720 TEAOZ_AN
1 TEAOS_NPOrPAMMATOX

A MPOrPAMMA Q€A
900 METABAHTEZ
1440 AKEPAIEZ: X\, TA, HMOE, MNV
0 NPArMATIKE=Z: Xp
v XAPAKTHPEZ: OV, OVHOE
APXH
900 m <- 0
) , s , , , pog <- 0
B2. i) apvnTIKEG ii) LEOOG OPOG ATOSEKTWY TLUWV AIABASE OV
i) A€O0 0Z0 ov <> 'Q' EMANAAABE
K& 0 AIABAZE A, unv
i€« 1 AN A <= 50 TOTE
000 <=5 emxvéAxpe xp <- 0
ALdBoce X AAMIQZ_AN A <= 90 TOTE
000 X>=0 emxvoAope xp <- (A - 50)*0.23
AL&Booe X AANANIQZ
TENoC_emavaAnyng Xp <- 40%0.23 + (A - 90)*0.16
K € K+ X TEAOZ_AN
i€ i+ 1 Xp <- Xp + 3 + pnv*0.06
TEAOG_emaveAnyng FPAYE Xp
AN€EK/S AN N\ > 20*60 TOTE
rpoge K,A FPAYE ov
B3.(1)8,(2)4,(3) mod 10, (4) 0 . A <- A + 1
TEAOZ_AN
MPOrPAMMA ©€uxI AN A > pog TOTE
METABAHTEZ MOE <- A
AKEPAIEZ: Kk, n\, TAA, TAK, oBp, mA1On18 OVHOE <- oV
NMPArMATIKEZ: MO, TOCA TEAOZ_AN

XAPAKTHPEZ: ¢ ATIABAZE ov
APXH TEAOZ_ENANAAHYHZ

mAA <- 0 AN TA = 0 KAI uo§¢ <> 0 TOTE
TAK <- 0 FPAYE OVMOE

NA10nl18 <- 0 TEAOZ_AN
xBp <- 0 TEAOZ_NPOIrPAMMATOX
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